Turk. J. Math. Comput. Sci. 12(1)(2020) 26–30 © MatDer https://dergipark.org.tr/en/pub/tjmcs



An Examination on NP^* – Curves in E^3

Şeyda Kiliçoğlu^{1,*}, Süleyman Şenyurt²

¹Faculty of Education, Department of Mathematics, Başkent University, Ankara, Turkey. ²Faculty of Arts and Sciences, Department of Mathematics, Ordu University, Ordu, Turkey.

Received: 09-09-2019 • Accepted: 15-03-2020

ABSTRACT. The evolute and involute curves, Mannheim curves or Bertrand curves are the famous examples of the associated curve pairs. In the view of such information we have defined NP^* curve pairs where the principal normal vector of the first curve and the vector P^* lying on the normal plane of the second curve are linearly dependent. We have called these curve pairs NP^* – curves. Second curve is named NP^* – partner curve. Also, while the examination of NP^* – curves we obtain some relations for the curvatures and Frenet apparatus of the second curve based on the Frenet apparatus of the first curve.

2010 AMS Classification: 53A04, 53A05.

Keywords: Darboux vector, Offset curves, Mannheim curves, Bertrand pairs.

1. INTRODUCTION AND PRELIMINARIES

The evolute and involute curve are the curves whose tangent lines intersect orthogonally, hence the principal normal vector of the first curve and tangent vector of second curve are linearly dependent. So if the principal normal vector of first curve and tangent vector of second curve are linearly dependent, then first curve is evolute, and the second curve is called involute curve. For more detail see in [2] and [3].

Mannheim curve was firstly defined by A. Mannheim in 1878; a curve is called a Mannheim curve if and only if $\kappa/(\kappa^2 + \tau^2)$ is a nonzero constant, κ is the curvature and τ is the torsion. Also, a new definition of these associated curves was given by Liu and Wang; if the principal normal vector of the first curve and binormal vector of the second curve are linearly dependent, then the first curve is called Mannheim curve, and the second curve is called Mannheim partner curve. As a result they called these new curves as Mannheim partner curves. For more detail see in [4]. Bertrand pair curves are the curves with common principal normal lines. A curve is Bertrand curve, if and only if there exist nonzero real numbers λ and β such that constant $\lambda \kappa + \beta \tau = 1$, κ is the curvature and τ is the torsion for any $s \in I$. For more detail see in [5]. Let $\{T, N, B, \kappa, \tau\}$ are collectively Frenet-Serret apparatus of a curve α , Frenet vector fields be T, N, B, of α and the first and second curvatures of the curve α be κ and τ , respectively.

*Corresponding Author

Email addresses: seyda@baskent.edu.tr (§. Kılıçoğlu), senyurtsuleyman52@gmail.com (S. Şenyurt)

2. NP^* – Curves

In this section we use a method to produce the new curves based on the other curves with common principal normal vector fields. Before we examined ND^* curve with common principal normal vector of first curve and Darboux vector of the second curve. The Darboux vector field of any arclengthed curve α has symmetrical properties [1]. Let α and α^* be the curves with Frenet-Serret apparatus $\{T, N, B, \kappa, \tau\}$ and $\{T^*, N^*, B^*, \kappa^*, \tau^*\}$, where κ , κ^* and τ , τ^* are the curvature functions the first and the second curve, respectively.



FIGURE 1. NP^* – partner curve

Definition 2.1. If the principal normal vector N of the first curve and the unit vector field

$$P^{*}(s) = \frac{aN^{*}(s) + bB^{*}(s)}{\sqrt{a^{2} + b^{2}}}$$

with non-zero constants a, b of the second curve are linearly dependent, then the first curve is called NP^* – curve, and the second curve is called NP^* – partner curve with the parametrization

$$\alpha^*(s) = \alpha(s) + \lambda(s) P^*(s).$$

As a result we have called these new curves as NP^* – curves. where, P^* lies on the normal plane with $||P^*|| = 1$. Under the condition $N = P^*$, we get

$$\alpha^*(s) = \alpha(s) + \lambda(s)N(s).$$

Corollary 2.2. There is the relationship among the non-zero constants a, b of P^* , and the angle $\langle (N^*, P^*) = \theta$, as in the following way

$$\cos\theta = \frac{a}{\sqrt{a^2 + b^2}}, \ \sin\theta = \frac{b}{\sqrt{a^2 + b^2}}$$

Proof. Since

$$\langle N^*, N \rangle = \langle N^*, P^* \rangle = \left\langle N^*, \frac{aN^* + bB^*}{\sqrt{a^2 + b^2}} \right\rangle = \frac{a}{\sqrt{a^2 + b^2}},$$
$$\langle B^*, N \rangle = \langle B^*, P^* \rangle = \left\langle B^*, \frac{aN^* + bB^*}{\sqrt{a^2 + b^2}} \right\rangle = \frac{b}{\sqrt{a^2 + b^2}},$$

it is trivial.

Theorem 2.3. Tangent vector field of NP^* – curve based on the Frenet apparatus of the first curve is

$$T^* = \frac{(1 - \kappa\lambda)T + \tau\lambda B}{\sqrt{\delta}}$$

where $\delta = (1 - \kappa \lambda)^2 + \tau^2 \lambda^2$ and $\frac{ds}{ds^*} = \frac{1}{\sqrt{s}}$.

Proof. For the curve $\alpha^* = \alpha + \lambda P^* = \alpha + \lambda N$ taking its derivative with respect to it's arclength parameter s^* , we have

$$\frac{d\alpha^*}{ds^*} = \frac{d\alpha^*}{ds}\frac{ds}{ds^*} = \frac{d(\alpha + \lambda N)}{ds}\frac{ds}{ds^*}$$
$$= ((1 - \lambda\kappa)T + \lambda'N + \lambda\tau B)\frac{ds}{ds^*}$$

Also α^* is an arc-lengthed curve with the s^* ; $\left(\frac{d\alpha^*}{ds^*}, \frac{d\alpha^*}{ds^*}\right) = 1$. Hence if we use the equality $(1 - \lambda \kappa)^2 + \lambda'^2 + \tau^2 \lambda^2 = \delta$, we have the following result $\frac{ds}{ds^*} = \frac{1}{\sqrt{\delta}}$, and we have tangent vector field as

$$T^* = \frac{(1 - \kappa\lambda)T + \lambda'N + \tau\lambda B}{\sqrt{(1 - \kappa\lambda)^2 + {\lambda'}^2 + \tau^2\lambda^2}}.$$

Tangent vector T^* of NP^* – partner curve is perpendicular its normal plane so tangent vector T^* is perpendicular to $P^* = N$, that is $\langle T^*, N^* \rangle = \langle T^*, B^* \rangle = 0$, so

$$\langle T^*, P^* \rangle = \langle T^*, N \rangle = 0.$$

Hence

$$\left\langle \frac{(1-\kappa\lambda)T+\lambda'N+\tau\lambda B}{\sqrt{(1-\kappa\lambda)^2+\lambda'^2+\tau^2\lambda^2}}, N \right\rangle = 0,$$

$$\lambda' = 0.$$

Since $\lambda' = 0$, then λ is a non-zero constant, so

$$T^* = \frac{(1 - \kappa\lambda)T + \tau\lambda B}{\sqrt{(1 - \kappa\lambda)^2 + \tau^2\lambda^2}}$$

and $\delta = (1 - \kappa \lambda)^2 + \tau^2 \lambda^2$, this complete the proof.

Corollary 2.4. λ , the distance between NP^{*} – pair curves is constant.

Proof. Since $|\alpha^*(s) - \alpha(s)| = |\lambda P^*(s)| = |\lambda|$ and λ is a non-zero constant, it is trivial.

Theorem 2.5. First curvature of the curve is NP^{*}-partner curve based on the Frenet apparatus of the first curve is

$$\kappa^* = \frac{1}{2\delta^2} \left(\left(-\lambda \kappa' 2\delta - (1 - \lambda \kappa) \,\delta' \right)^2 + \left(\kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right)^2 4\delta^2 + \left(\lambda \tau' 2\delta - \lambda \tau \delta' \right)^2 \right)^{\frac{1}{2}}$$

or $\kappa^* = \frac{\Delta}{2\delta^2}$, where

$$\Delta^2 = \left(-\lambda \kappa' 2\delta - (1 - \lambda \kappa) \,\delta'\right)^2 + \left(\kappa - \lambda \left(\kappa^2 + \tau^2\right)\right)^2 4\delta^2 + \left(\lambda \tau' 2\delta - \lambda \tau \delta'\right)^2.$$

Proof. Since $\kappa^* N^* = \frac{dT^*}{ds} \frac{ds}{ds^*}$ and $\frac{ds}{ds^*} = \frac{1}{\sqrt{\delta}}$, it can be calculated as

$$\kappa^* N^* = \left(\frac{\left[(1-\kappa\lambda)\,T+\lambda\tau B\right]'\,\sqrt{\delta}}{\delta} - \frac{\left[(1-\kappa\lambda)\,T+\tau\lambda B\right]\,\sqrt{\delta'}}{\delta}\right)\frac{ds}{ds^*}$$

hence

$$\kappa^* N^* = \frac{1}{\delta} \left(\begin{array}{c} \left((-2\lambda'\kappa - \lambda\kappa') - (1 - \kappa\lambda)\frac{\delta'}{2\delta} \right) T \\ + \left(\left(\lambda'' + \kappa - \kappa^2\lambda - \lambda\tau^2 \right) - \lambda'\frac{\delta'}{2\delta} \right) N + \left((2\lambda'\tau + \lambda\tau') - \lambda\tau\frac{\delta'}{2\delta} \right) B \end{array} \right).$$

Also $\kappa^{*2} = \langle \kappa^* N^*, \kappa^* N^* \rangle$, so we have

$$\kappa^* = \frac{1}{2\delta^2} \left(\left(-(2\lambda'\kappa + \kappa'\lambda) 2\delta - (1 - \kappa\lambda) \delta' \right)^2 + \left(\left(\lambda''' + \kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right) 2\delta - \lambda' \delta' \right)^2 + \left((2\lambda'\tau + \lambda\tau') 2\delta - \lambda\tau \delta' \right)^2 \right)^{\frac{1}{2}}.$$

or NP^* - partner curve, under the condition $\lambda' = 0$ we have the proof.

For NP^* – partner curve, under the condition $\lambda' = 0$ we have the proof.

28

Theorem 2.6. Normal vector field of the curve NP*-partner curve based on the Frenet apparatus of the first curve is

$$N^* = \frac{a}{\sqrt{a^2 + b^2}} \left(\frac{-2\lambda\kappa'\delta - (1 - \kappa\lambda)\delta'}{(\kappa - \lambda(\kappa^2 + \tau^2))2\delta} T + N + \frac{2\lambda\tau'\delta - \lambda\tau\delta'}{(\kappa - \lambda(\kappa^2 + \tau^2))2\delta} B \right)$$

Proof. Since $\kappa^* N^* = \frac{dT^*}{ds} \frac{ds}{ds^*}$ we have already find out the following result so

$$N^{*} = \frac{1}{2\delta^{2}\kappa^{*}} \left(\left(-(2\lambda'\kappa + \kappa'\lambda) 2\delta - (1 - \kappa\lambda)\delta' \right)T + \left(\left(\lambda' + \kappa - \lambda\left(\kappa^{2} + \tau^{2}\right)\right) 2\delta - \lambda'\delta' \right)N + \left((2\lambda'\tau + \lambda\tau') 2\delta - \lambda\tau\delta' \right)B \right)$$

for NP^* – curve, under the condition $\lambda' = 0$ and $\kappa^* = \frac{\Lambda}{2\delta^2}$ we have normal vector field of the curve NP^* – *partner* curve as in the following way

$$N^* = \frac{1}{\Delta} \left(\left(-\lambda \kappa' 2\delta - (1 - \kappa \lambda) \,\delta' \right) T + \left(\left(\kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right) 2\delta \right) N + \left(\lambda \tau' 2\delta - \lambda \tau \delta' \right) B \right),$$

where

$$\Delta = \left[\left(-\lambda \kappa' 2\delta - (1 - \kappa \lambda) \,\delta' \right)^2 + \left(\kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right) 4\delta^2 + \left(\lambda \tau' 2\delta - \lambda \tau \delta' \right)^2 \right]^{\frac{1}{2}}.$$

Also since

$$\langle N^*, N \rangle = \frac{a}{\sqrt{a^2 + b^2}}$$

we get

$$\frac{1}{\Delta} \left\langle \left(\left(-\lambda \kappa' 2\delta - \left(1 - \kappa \lambda \right) \delta' \right) T + \left(\kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right) 2\delta N + \left(\lambda \tau' 2\delta - \lambda \tau \delta' \right) B \right), N \right\rangle = \frac{a}{\sqrt{a^2 + b^2}}$$

Hence it is easy to say there is the relationship among the curvatures κ , τ , λ , Δ and a, b of NP^* – partner curve as in

$$\Delta = \frac{\sqrt{a^2 + b^2}}{a} \left(\kappa - \lambda \left(\kappa^2 + \tau^2 \right) \right) 2\delta.$$

Theorem 2.7. First curvature of the curve is NP^* – partner curve based on the Frenet apparatus of the first curve and constants *a*, *b* is

$$\kappa^* = \frac{\sqrt{a^2 + b^2}}{a} \frac{\left(\kappa - \lambda \left(\kappa^2 + \tau^2\right)\right)}{\left(1 - \kappa \lambda\right)^2 + \tau^2 \lambda^2}.$$

Proof. It is trivial under the condition $\Delta = \frac{\sqrt{a^2 + b^2}}{a} \left(\kappa - \lambda \left(\kappa^2 + \tau^2\right)\right) 2\delta$ and $\kappa^* = \frac{\Delta}{2\delta^2}$.

Theorem 2.8. Binormal vector field of NP^* -partner curve based on the Frenet apparatus of the first curve and constants *a*, *b* is

$$B^* = \frac{a}{\sqrt{a^2 + b^2}\sqrt{\delta}} \left(-\lambda\tau T + \frac{\lambda^2 (\kappa\tau' - \kappa'\tau) - \lambda\tau'}{\kappa - \lambda (\kappa^2 + \tau^2)} N + (1 - \lambda\kappa) B \right).$$

Proof. It is trivial under the condition $\Delta = 2\delta \frac{\sqrt{a^2+b^2}}{a} \left(\kappa - \lambda \left(\kappa^2 + \tau^2\right)\right)$ and $B^* = T^* \Delta N^*$, hence

$$B^{*} = \frac{1}{\sqrt{\delta}\Delta} \begin{vmatrix} T & N & B \\ (1-\kappa\lambda) & 0 & \lambda\tau \\ (-2\lambda\kappa'\delta - (1-\kappa\lambda)\delta') & ((\kappa-\lambda(\kappa^{2}+\tau^{2}))2\delta) & (2\lambda\tau'\delta - \lambda\tau\delta') \end{vmatrix}$$
$$B^{*} = \frac{a}{\sqrt{a^{2}+b^{2}}\sqrt{\delta}} \begin{pmatrix} -\lambda\tau T + \frac{\lambda\tau(-2\lambda\kappa'\delta - (1-\kappa\lambda)\delta') - (1-\kappa\lambda)(2\lambda\tau'\delta - \lambda\tau\delta')}{2\delta(\kappa-\lambda(\kappa^{2}+\tau^{2}))} N \\ + (1-\kappa\lambda)B \end{pmatrix}.$$

Corollary 2.9. NP* – partner curve based can not be Mannheim partner curve

Proof. Since
$$\kappa - \lambda \left(\kappa^2 + \tau^2\right) \neq 0$$
, we have $\lambda \neq \frac{\kappa}{(\kappa^2 + \tau^2)}$ so $\kappa / \left(\kappa^2 + \tau^2\right)$ is not a nonzero constant.

Theorem 2.10. The second curvature of the NP^* -partner curve based on the Frenet apparatus of the first curve is

$$\tau^* = \frac{\tau}{\left(1 - \kappa \lambda\right)^2 + \tau^2 \lambda^2}.$$

Proof. Since $\frac{dB^*}{ds^*} = \frac{dB^*}{ds} \frac{ds}{ds^*} = -\tau^* N^*$, we can write $\frac{dB^*}{ds} = -\tau^* N^* \frac{ds^*}{ds}$. Also we have already calculate $\langle B^*, N \rangle = \frac{b}{\sqrt{a^2+b^2}}$, taking its derivative with respect to arclength parameter s^* , we have

$$\left(\left\langle\frac{dB^*}{ds},N\right\rangle + \left\langle B^*,\frac{dN}{ds}\right\rangle\right)\frac{ds}{ds^*} = 0$$
$$\left(\left\langle-\tau^*N^*\frac{ds^*}{ds},N\right\rangle + \left\langle B^*,\frac{dN}{ds}\right\rangle\right)\frac{ds}{ds^*} = 0$$
$$\left(-\sqrt{\delta}\tau^*\left\langle N^*,N\right\rangle + \left\langle B^*,-\kappa T + \tau B\right\rangle\right)\frac{1}{\sqrt{\delta}} = 0.$$

If we place the product values of the $\langle B^*, T \rangle$, $\langle B^*, B \rangle$ and $\langle N^*, N \rangle$ in

$$\begin{split} \tau^* &=& \frac{1}{\sqrt{\delta}} \frac{-\kappa \langle B^*, T \rangle + \tau \langle B^*, B \rangle}{\langle N^*, N \rangle} \\ \tau^* &=& \frac{1}{\delta} \tau. \end{split}$$

Theorem 2.11. NP^* -partner curve is defined by a = 1 and b = 1. $P^* = \frac{N^* + B^*}{\sqrt{2}}$ lies on the normal plane, hence *Frenet-Serret apparatus are*

$$\begin{split} T^* &= \frac{(1-\kappa\lambda)T+\tau\lambda B}{\sqrt{\delta}},\\ N^* &= \frac{1}{\sqrt{2}} \bigg(\frac{(-2\lambda\kappa'\delta-(1-\kappa\lambda)\delta')}{(\kappa-\lambda(\kappa^2+\tau^2))2\delta}T + N + \frac{(2\lambda\tau'\delta-\lambda\tau\delta')}{(\kappa-\lambda(\kappa^2+\tau^2))2\delta}B \bigg),\\ B^* &= \frac{-\lambda\tau}{\sqrt{2\delta}}T + \frac{(2\lambda\tau'\delta+\lambda(\tau-\lambda\tau)(1-\lambda\kappa)\delta')}{(\kappa-\lambda(\kappa^2+\tau^2))2\sqrt{2\delta}\sqrt{\delta}}N + \frac{(1-\kappa\lambda)}{\sqrt{2\delta}}B,\\ \kappa^* &= \sqrt{2} \frac{(\kappa-\lambda(\kappa^2+\tau^2))}{(1-\kappa\lambda)^2+\tau^2\lambda^2},\\ \tau^* &= \frac{\tau}{(1-\kappa\lambda)^2+\tau^2\lambda^2}. \end{split}$$

CONFLICTS OF INTEREST

The authors declare that there are no conflicts of interest regarding the publication of this article.

References

- [1] Gray, A., Modern Differential Geometry of Curves and Surfaces with Mathematica, 2nd ed. Boca Raton, FL: CRC Press, p. 205, 1997. 2
- [2] Hacısalihoğlu, H.H., Diferensiyel Geometri, Cilt 1, İnönü Üniversitesi Yayinlari, Malatya, 1994. 1
- [3] Lipschutz, M.M., Diferential Geometry, Schaum's Outlines. 1
- [4] Liu, H., Wang F., Mannheim partner curves in 3-space, Journal of Geometry, 88(1)(2008), 120-126. 1
- [5] Schief, W.K., On the integrability of Bertrand curves and Razzaboni surfaces, Journal of Geometry and Physics, 45(1-2)(2003), 130–150. 1